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1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

Answers

1. 13,482

2. 16,692

3. 10,679

4. 14,436

5. 8,416

6. 6,969

7. 10,910

8. 9,601

9. 7,589

10. 10,153

11. 12,504

12. 10,399

13. 17,261

14. 9,763

15. 11,050

16. 11,910

17. 12,466

18. 6,108

19. 6,585

20. 6,930

Solve each problem.

1) 8,684 + 4,798 = 13,482

2) 9,261 + 7,431 = 16,692

3) 7,679 + 3,000 = 10,679

4) 8,188 + 6,248 = 14,436

5) 4,620 + 3,796 = 8,416

6) 4,917 + 2,052 = 6,969

7) 8,702 + 2,208 = 10,910

8) 7,702 + 1,899 = 9,601

9) 5,580 + 2,009 = 7,589

10) 5,648 + 4,505 = 10,153

11) 9,415 + 3,089 = 12,504

12) 6,543 + 3,856 = 10,399

13) 8,779 + 8,482 = 17,261

14) 5,838 + 3,925 = 9,763

15) 6,820 + 4,230 = 11,050

16) 6,913 + 4,997 = 11,910

17) 8,864 + 3,602 = 12,466

18) 3,126 + 2,982 = 6,108

19) 4,753 + 1,832 = 6,585

20) 3,479 + 3,451 = 6,930
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Modified

Solve each problem.

10,679 6,969 13,482 9,601

12,504 7,589 10,910 14,436

16,692 8,416 10,399 10,153

1) 8,684 + 4,798 = 13,482

2) 9,261 + 7,431 = 16,692

3) 7,679 + 3,000 = 10,679

4) 8,188 + 6,248 = 14,436

5) 4,620 + 3,796 = 8,416

6) 4,917 + 2,052 = 6,969

7) 8,702 + 2,208 = 10,910

8) 7,702 + 1,899 = 9,601

9) 5,580 + 2,009 = 7,589

10) 5,648 + 4,505 = 10,153

11) 9,415 + 3,089 = 12,504

12) 6,543 + 3,856 = 10,399

Answers

1. 13,482

2. 16,692
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4. 14,436

5. 8,416

6. 6,969

7. 10,910

8. 9,601

9. 7,589

10. 10,153

11. 12,504

12. 10,399

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0
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